MA 241 - Pavlechko Practice Test
' This test is worth a total of 100 points.

1. Answer the following as either True or False. If the answer is False, give a brief
explanation why.

b
(a) If we used the Trapezoidal Rule with n trapezoids to approximate / f(x) dz,

b—a)?

T , where
n

then the exact error of our approximation will always equal
|f"(x)] <k fora <z <b.

23 — 622 + 19z — 20

(x —=3)(x—1)
is to perform polynomial division.

(b) The first step to decompose into a sum of partial fractions

2 1 2
(c)/ de=In|r—1]| =ln|l|—In|-1|=0.
g r—1 0

sin?(In(x)) cos®(In(x))

Xz

dz.

2. Evaluate /
23

——dx
V922 + 49

3. Use trigonometric substitution to evaluate /

x-9
4. Evaluate %’W_@dﬁ@-

5. For this question, you may leave your answers in expanded form. (i.e. you do not need
to plug it into a calculator)

2
a) Approximate e3* dx using Simpson’s Rule with n = 6.
g
0

(b) Find the upper bound for the absolute value of the error.

Hint: |Eg| < kiggsf where |f®(z)| < k for a < x < b.

6. Determine if the following integral is convergent or divergent. Evaluate the integral
if it is convergent. Be sure to use proper mathematical notation.
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